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COMPUTER HARDWARE SScC-II

SECTION — A (ifjarks 08)
Time allowed: 20 Minutes
o
NOTE: Section—-A is compulsory. All parts of this sectiom #we to be answered on the question paper itself.
It should be completed in the first 20 minutes gl handed over to the Centre Superintendent.

Deleting/overwriting is not allowed. Do not use leadgiencil.
———

Q.1 Circle the correct option i.e. A/ B/ C/ D. Each part calwles one mark.

(i) Voltage required to spin CPU fan is:
A. +5V B. -5V
C. +12V D. +3.3V
(ii) 16 bit address bus addresses memory.
A 1 MB B. 64 KB
C. 64 MB D. 16 KB
(i Zip drive is connected with port.
A Serial [ 3 USB
C. Parallel B. PS/2
(iv) Which of the following is NOT an advantage of neworking?
A Communication 8 Share resources
C. Manage resources D. Share devices
(V) The group of sectors considered as one black is asied:
A. Cluster - ) Cylinder
C. Platter D. None of these
(viy Speed of mathematical function depends upon the width of:
A FPU 8 Memory unit
C. Register D. Control bus
(vii) In which year was the first version of DOS releasad?
A 1980 AD B. 1981 AD
C. 1982 AD B. 1998 AD
(viii) The time required to reach the sector under the haad is:
A Latency time B Seek time
C. Access time b. All of these
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COMPUTER HARDWARE SSC-lI

Time allowed: 2:40 Hours Total Marks Sections B and C: 32

NOTE: Answer any six parts from Section ‘B’ and any #§o questions from Section ‘C’ on the separately
provided answer book. Use supplementary answes gheet i.e. Sheet—B if required. Write your answers
neatly and legibly. '

SECTION — B (Mighs 18

Q.2  Answer any SIX parts. The answer to each part shoulll not exceed 3 to 4 lines. {6 x3=18)
(i Why Math coprocessor is required with 80867
(i) What is the difference between server and client?
(1ii) Write a short note on expansion card.
(iv) Why are secondary-storage-devices needed?
(V) Write a note on single user operating system.
(vi) What is the difference between volatile and non-welatile memory? Also write name of these memories.
(vil} Define sector and tracks of Fioppy disk.
{

viiiy  What are uses of NIC and Modem card?

SECTION - C 14
Note: Attempt any TWO questions. All questions caregesual marks. (2x7=14)
Q.3 a What is the difference between 80486 and P54 C? (04)
b. Define all types of buses. (03)
Q4 a Write advantages and disadvantages of a ‘bus based’ motherboard. (04)
b. Explain methods of networking. (03)
Q.5 Define Operating System. Explain its functions. (07)
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